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VIDYASAGAR UNTVERSITY

Question Paper

B.Sc. Honours Examination 2o.23

{Under CBCS Pattern}

Semester - II
Subject: MATHEMATICS

Paper: C-37
( R.eal Analysis I
Full Marks : 6O

Time : 3 hours

The figures inthe righf-hand marginindicate ma*s.
The sgmbols used haue their usual meaning s.

Answer all questions.

1. Answer ang tea questions from the following :

2xlA=2O

(a.) Define enumerabie set. Is the set

Z = tA, !L, + 2, t 3,... .... ..) of all integers
enumerable (countable)? JustifY.
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{6}
(u) State Heine-Bore1 theorem. Give an

illustration of it. {1+3+l+2)+1+2=1A

(d) (il If a set S is open, then its complement
Sc is closed and conversely, justify this
statement.

(lil State Bolzano-Weierstrass theorem.
Define 'covering' of a set. Let S= (0,1)
be a set, find an open covering of S.

5+5=10
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